IR IR

# 5]

REBRE=E RIIBREF=

RIAGABEEODEEFEN RIIGEABEEOEEFEN

B[ B
FEFE HEEE F&F=E HEFE
BHBRFOES 60,000 100,000+10,000XF#& BHBPFEDES 55,000 100,000+9,000 X A%
EEHaesHii e FFEEREED | 11,000G%3) 70,000+ 2,000 X FE(GE3) EEHaesHi < fFFEFREED | 11,000C%3) 70,000+2,000X FEGE3)
ma ma

CE1) FEERAREEEFICOVTIL LESBED20%EREALET,

(%2) EEEERUEMEEZSASOFERI. BEATICKIVUAEBZREL
E-R

(E3) SIEXRFRI. MEFHR2 RAFRS, XTI F—FR6 MHEES
MINEHEE/ZLTLVBHAICIRYET,

(F4) FERAREEEZFICOVTIL LEREEED20%EREALET,
(£5) EtEEERUENEEZSEIRSOFERI. BEEARABICKIURIGREEL

£y

(X6) LHEXREFMR3. MEFH2. AFRA HEFEBEFMIOEEZR/IZLTL)

DHAICRYET,

KA ARERIREL 5 —




